Using the formula A = L X W, find the (G,) A 5 QJO

value of A when: (\O> A = Sl'es

(@ L=10and W =6
(b) L=25andW =8 (csh =i

(@) L =35randiVe=td

: d
Using the formula s = - find the value (O\B 5

of S when: (b> 50
(a) " d ="10%nd =2
(b) d=450andt =9 (C‘—B 8

(c)  d = 20 and ti=t2E5

Using the formula A = ? , find the (O&> 60

value of A when: (b> 43 5
(@ b=10andh =12 (C.) ,\25

(b) b =5 andhi=¢
(¢ b=25andh=10

Using the formulaV = L X W X H , find (O\\) 100

the value of V when:
(a) L =10, Wi=5and Hi=2 (b> /\O\Z

(¢ L=3,W=4andH=25

Using the formula F = m X a, find the <O\> _2 4\’

value of V when: <b> _*, 5

(a) m=4anda=-6
(b)) m=175anda=-10

mxv?
Using the formula £ = e find the | (OL\) '\ L)

value of E when: (b> /\QJO

(a) m=5andv =2
(b) m=20,andv =4



